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Figure S3. A, Relative proportion of types of copy number changes as in Fig. 1E with acrocentric 

chromosomes considered as whole-chromosomes instead of arms. B, Relative proportion of types 

of copy number changes of the reversine adapted cell populations at 30, 60 and 90 days from each 

cell line. For acrocentric chromosomes considered as arm or as whole chromosome. C, Copy 

number profiles of two 90 days adapted dipHAP1 cell lines (#9 and #20) with a 7.5 MB focal loss of 

chr. 19q. D, Comparison of the normalized growth with reversine (+Rev) or relative growth (+Rev/-

Rev) of 60 or 90 days adapted dipHAP1 and RPE1 populations with the negatively correlated 

aneuploidies related to Fig. 1G. p-values are from unpaired student’s t-test. * = p<0.05, ** = p<0.01, 

ns = not significant. 

 

  


